



DIRECTORATE OF INSTITUTIONAL FINANCE & STATE LOTTERY

e-mail: ifsl-miz@mizoram.gav.in: Website: www.ifsl.mizoram.gov.in, Phone: 03892322291

No.G.27042/3/2024-DTE(IF&SL)/184:

Dated Aizawl, the $\frac{2^{x}}{2}$ Dec., 2024

NOTICE

As authorised by the Government vide letter No.G.16016/4/2012-F.IF&SL dt 11.9.2012, the undersigned hereby approves of revision of draw time of **Golden 4D Raashi Duke/Rocky /Ace /Dodge / Herbie /Exter/Stella** Online Weekly Lottery w.e.f. 06.01.2025 onwards at 8:30 PM till further intimation.

Sd/- LALPEKLIANA

Director
Institutional Finance & State Lottery
Mizoram : Aizawl.

Memo No.G.27042/3/2024-DTE(IF&SL)/ 14^{14} :Dated Aizawl, the $\frac{2^{-\lambda}}{2}$ Dec., 2024

- Copy to: 1) Under Secretary to the Govt. of Mizoram, Finance Department (E) for information.
 - 2) Director, State Lotteries, Govt. of Sikkim and Goa for information.
 - 3) Under Secretary & Deputy Director, Finance Department. Maharashtra State Lotteries for information.
 - 4) Kimaya Infotech LLP, Sl.No. 84, Pune Satara Road, Katraj, Pune 411 046, Maharashtra, Email <u>contacts@kimayainfotech.com</u> accounts@kimayainfotech.com
 - 5) Deputy Resident Commissioner, Govt. of Mizoram, Mizoram House, Delhi for favour of information and necessary action.
 - 6) M/s B.S. Enterprises, 201, 2nd Floor, Bhakti Park, R.H.B. Road & S.L. Road Junction, Mulund (West), Mumbai-400080 for information.

Institutional Finance & State Lottery

Mizoram : Aizawl.

Director: 2322291, Fax - 2320755, Jt. Director: 2325115/2310476, Fax - 2317998

GOVERNMENT OF MIZORAM Azadi ka Azadi ka

e-mail: ifsl-miz@mizoram.gov.in: Website: www.ifsl.mizoram.gov.in, Phone: 0389-2322291

No. G.27042/3/2024-DTE(IF&SL).

Dated Aizawl, the ___ December, 2024

Revised Scheme of Golden 4D Raashi Duke Online Weekly Lottery Starting from dated 06/01/2025 Onwards

a) Name of the Lottery Scheme : Golden 4D Raashi Duke Online Weekly

b) Periodicity of the Draw : Weekly (Monday)
c) Ticket Price : Rs. 10/- (MRP)

d) Total Number of Tickets : 12,00,000/- (Twelve lakh) Maximum 10 bets of

each combination

e) Numbering : 0000 to 9999 each in 12 Raashi

(Mesha, Vrishabha, Mithun, Karka, Simha, Kanya, Tula, Vrishchika, Dhanu, Makara, Kumbha, Meena)

f) Total Combinations : 1,20,000 (10,000 in each Raashi)

g) MRP Value of the Tickets : Rs.1,20,00,000/-(One Crore Twenty Lakh)

h) Face Value of the Tickets : Rs. 93,75,000/- (Ninety Three Lakh Seventy Five

Thousand)

i) Draw Number
 j) Draw Time
 k) Prize Structure
 j) Tow Time
 j) Seven Onwards
 j) Seven Onwards
 j) Mentioned Below

1) Amount Offered as Prize Money : Mentioned Below

m) Procedure of Draw : 1 time on 4 Digit with One Winning Raashi and

100 Times on 4 digit common to all Raashi (No

Repetition of any Number of any Rank).

n) Name of Sole Distributor : B.S. Enterprises (Lottery Division), Unit of

Goldwin Health Care Pvt Ltd, 201 Bhakti Park,

Mulund (W), Mumbai - 400080.

o) Deduction of Prize Money : Income tax shall be deducted as per the provision

of Income Tax Act.

p) Software Provider Name : Kimaya Infotech LLP

& Address S. No. 84, Pune – Satara Road, Katraj,

Pune - 411 046, Maharashtra

q) One combination can win Prize of One Rank Only, whichever is Highest in Terms of Prize Money.

r) All the prizes above worth Rs.10000/- will be liable to claim directly from Mizoram Government as per rules.

s) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

t) All the Tickets issued shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Played Numbers with Raashi and Barcode.

u) Tickets to be sold in proposed States: Maharashtra, Goa, Sikking

PEKLIANA

Director

Scheme

Golden 4D Raashi Duke Online Weekly

Gross Ticket Price (MRP)	Rs. 10/-
Face Value	Rs. 7.8125/-
Numbering	0000 to 9999 Plus 12 Raashi
Total Number of Bets	12,00,000/-***

Box Type	Description	Example
1 WAY	1 NUMBER REPEATED 4 TIMES	1111
4 WAY	1 NUMBER REPEATED 3 TIMES	1 1 1 2
6 WAY	2 NUMBER REPEATED 2 TIMES	0 0 1 1
12 WAY	1 NUMBER REPEATED 2 TIMES	0 0 1 2
24 WAY	NUMBERS ARE NOT REPEATED	1 2 3 4

^{***} Each Combination of 1,20,000 has Maximum 10 bets.

TOTAL MRP SALE	1,20,00,000/-
TOTAL FACE VALUE	93,75,000/-

Depending on Box type of 4 Digit number drawn of 1^{st} Rank, any one of the tables below is applicable for the draw

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of Prizes	Amount	Amount
					(Rs.)	(Rs.)
1 st	Sequence	1111 + R	1111 + R	10	1,50.000/-	15,00,000/-
2 nd	1 Way	1111 + R	1111	110	30,000/	33,00,000/-
	Box**					
3 rd	N.A		Not Applicable for one	-	-	-
			way Box			
4 th	4 Digit -		100 Times on 4 digit	12,000	100/-	12,00,000/-
	Straight		common to all Raashi (No			
	(100 Time)		Repetition of any Number			
			of any Rank)			
			Total			60,00,000/-

^{**} For 2nd Rank only, 1 Way i.e. 1111,2222 etc. will be considered as 1 Way Box not Straight.

<u>OR</u>

PRIZE STRUCTURE FOR 4 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of	Amount	Amount
				Prizes	(Rs.)	(Rs.)
1 st	Sequence	1112 + R	1112 + R	10	1,50.000/-	15,00,000/-
2 nd	Straight	1112 + R	1112	110	9,000/-	9,90,000/-
3 rd	4 Way Box	2111 + R	1112,1121,1211,2111	360	7,700/-	27,72,000/-
4 th	4 Digit -		100 Times on 4 digit common	12,000	100/-	12,00,000/-
	Straight		to all Raashi (No Repetition			
	(100 Time)		of any Number of any Rank)			
	Total					

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1122 + R	1122 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1122 + R	1122	110	9,000/-	9,90,000/-
3 rd	6 Way Box	2211 + R	1122,1212,1221,2211,2121,2112	600	4,600/-	27,60,000/-
4 th	4 Digit - Straight		100 Times on 4 digit common to all Raashi (No Repetition of any	12,000	100/-	12,00,000/-
	(100 Time)		Number of any Rank)			<u> </u>
			Total			64,50,000/-

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of	Amount	Amount
				Prizes	(Rs.)	(Rs.)
1 st	Sequence	1123 + R	1123 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1123 + R	1123	110	9,000/-	9,90,000/-
3 rd	12 Way Box	2311 + R	1123, 1132, 1213, 1231,1321,	1320	2,100/-	27,72,000/-
			1312, 2311, 2113, 2131, 3211,			
			3112, 3121			
4 th	4 Digit -		100 Times on 4 digit common to	12,000	100/-	12,00,000/-
	Straight		all Raashi (No Repetition of any			
	(100 Time)		Number of any Rank)			
			Total	·	·	64,62,000/-

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1234 + R	1234 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1234 + R	1234	110	9,000/-	9,90,000/-
3 rd	24 Way Box	4321 + R	1234, 1324, 1423, 1243, 1342, 1432, 2134, 2314, 2413, 2143, 2341, 2431, 3124, 3214, 3412, 3142, 3241, 3421, 4123, 4213, 4312, 4132, 4231, 4321	2760	1,000/-	27,60,000/-
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-
	Total 6					

GOVERNMENT OF MIZORAM



e-mail: ifsl-miz@mizoram.gov.in: Website: www.ifsl.mizoram.gov.in, Phone: 0389-2322291

No. G.27042/3/2024-DTE(IF&SL).

Dated Aizawl, the ___ December, 2024

Revised Scheme of Golden 4D Raashi Rocky Online Weekly Lottery Starting from dated 07/01/2025 Onwards

a) Name of the Lottery Scheme : Golden 4D Raashi Rocky Online Weekly

b) Periodicity of the Draw : Weekly (Tuesday)
c) Ticket Price : Rs. 10/- (MRP)

d) Total Number of Tickets : 12,00,000/- (Twelve lakh) Maximum 10 bets of

each combination

e) Numbering : 0000 to 9999 each in 12 Raashi

(Mesha, Vrishabha, Mithun, Karka, Simha, Kanya, Tula, Vrishchika, Dhanu, Makara, Kumbha, Meena)

f) Total Combinations : 1,20,000 (10,000 in each Raashi)

g) MRP Value of the Tickets : Rs.1,20,00,000/-(One Crore Twenty Lakh)

h) Face Value of the Tickets : Rs. 93,75,000/- (Ninety Three Lakh Seventy Five

Thousand)

i) Draw Number : 7 (Seven) Onwards j) Draw Time : 8:30 PM Onwards

k) Prize Structure : Mentioned Below
l) Amount Offered as Prize Money : Mentioned Below

m) Procedure of Draw : 1 time on 4 Digit with One Winning Raashi and

100 Times on 4 digit common to all Raashi (No

Repetition of any Number of any Rank).

n) Name of Sole Distributor : B.S. Enterprises (Lottery Division), Unit of

Goldwin Health Care Pvt Ltd, 201 Bhakti Park,

Mulund (W), Mumbai - 400080.

o) Deduction of Prize Money : Income tax shall be deducted as per the provision

of Income Tax Act.

p) Software Provider Name : Kimaya Infotech LLP

& Address S. No. 84, Pune – Satara Road, Katraj,

Pune – 411 046, Maharashtra

q) One combination can win Prize of One Rank Only, whichever is Highest in Terms of Prize Money

r) All the prizes above worth Rs.10000/- will be liable to claim directly from Mizoram Government as per rules.

s) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

t) All the Tickets issued shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Played Numbers with Raashi and Barcode.

u) Tickets to be sold in proposed States: Maharashtra, Goa, Sikkim

Director

Scheme

Golden 4D Raashi Rocky Online Weekly

Gross Ticket Price (MRP)	Rs. 10/-
Face Value	Rs. 7.8125/-
Numbering	0000 to 9999 Plus 12 Raashi
Total Number of Bets	12,00,000/-***

Box Type	Description	Example
1 WAY	1 NUMBER REPEATED 4 TIMES	1111
4 WAY	1 NUMBER REPEATED 3 TIMES	1112
6 WAY	2 NUMBER REPEATED 2 TIMES	0 0 1 1
12 WAY	1 NUMBER REPEATED 2 TIMES	0 0 1 2
24 WAY	NUMBERS ARE NOT REPEATED	1 2 3 4

^{***} Each Combination of 1,20,000 has Maximum 10 bets.

TOTAL MRP SALE	1,20,00,000/-
TOTAL FACE VALUE	93,75,000/-

Depending on Box type of 4 Digit number drawn of 1^{st} Rank, any one of the tables below is applicable for the draw

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of Prizes	Amount	Amount
					(Rs.)	(Rs.)
1 st	Sequence	1111 + R	1111 + R	10	1,50.000/-	15,00,000/-
2 nd	1 Way	1111 + R	1111	110	30,000/	33,00,000/-
	Box**					
3 rd	N.A		Not Applicable for one	-	-	-
			way Box			
4 th	4 Digit -		100 Times on 4 digit	12,000	100/-	12,00,000/-
	Straight		common to all Raashi (No			
	(100 Time)		Repetition of any Number			
			of any Rank)			
	_	_	Total			60,00,000/-

^{**} For 2nd Rank only, 1 Way i.e. 1111,2222 etc. will be considered as 1 Way Box not Straight.

<u>OR</u>

PRIZE STRUCTURE FOR 4 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total	
				No. of	Amount	Amount	
				Prizes	(Rs.)	(Rs.)	
1 st	Sequence	1112 + R	1112 + R	10	1,50.000/-	15,00,000/-	
2 nd	Straight	1112 + R	1112	110	9,000/-	9,90,000/-	
3 rd	4 Way Box	2111 + R	1112,1121,1211,2111	360	7,700/-	27,72,000/-	
4 th	4 Digit -		100 Times on 4 digit common	12,000	100/-	12,00,000/-	
	Straight		to all Raashi (No Repetition				
	(100 Time)		of any Number of any Rank)				
	Total						

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)		
1 st	Sequence	1122 + R	1122 + R	10	1,50,000/-	15,00,000/-		
2 nd	Straight	1122 + R	1122	110	9,000/-	9,90,000/-		
3 rd	6 Way Box	2211 + R	1122,1212,1221,2211,2121,2112	600	4,600/-	27,60,000/-		
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-		
	Total							

OR
PRIZE STRUCTURE FOR 12 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total	
				No. of	Amount	Amount	
				Prizes	(Rs.)	(Rs.)	
1 st	Sequence	1123 + R	1123 + R	10	1,50,000/-	15,00,000/-	
2 nd	Straight	1123 + R	1123	110	9,000/-	9,90,000/-	
3 rd	12 Way Box	2311 + R	1123, 1132, 1213, 1231,1321, 1312, 2311, 2113, 2131, 3211, 3112, 3121	1320	2,100/-	27,72,000/-	
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-	
	Total						

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1234 + R	1234 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1234 + R	1234	110	9,000/-	9,90,000/-
3 rd	24 Way Box	4321 + R	1234, 1324, 1423, 1243, 1342, 1432, 2134, 2314, 2413, 2143, 2341, 2431, 3124, 3214, 3412, 3142, 3241, 3421, 4123, 4213, 4312, 4132, 4231, 4321	2760	1,000/-	27,60,000/-
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-
Total						

GOVERNMENT OF MIZORAM Azadi Candi Mahotsav DIRECTORATE OF INSTITUTIONAL FINANCE & STATE LOTTERY

e-mail: ifsl-miz@mizoram.gov.in: Website: www.ifsl.mizoram.gov.in, Phone: 0389-2322291

No. G.27042/3/2024-DTE(IF&SL).

Dated Aizawl, the ___ December, 2024

Revised Scheme of Golden 4D Raashi Ace Online Weekly Lottery Starting from dated 08/01/2025 Onwards

a) Name of the Lottery Scheme : Golden 4D Raashi Ace Online Weekly

b) Periodicity of the Draw : Weekly (Wednesday)

c) Ticket Price : Rs. 10/- (MRP)

d) Total Number of Tickets : 12,00,000/- (Twelve lakh) Maximum 10 bets of

each combination

e) Numbering : 0000 to 9999 each in 12 Raashi

(Mesha, Vrishabha, Mithun, Karka, Simha, Kanya, Tula, Vrishchika, Dhanu, Makara, Kumbha, Meena)

f) Total Combinations : 1,20,000 (10,000 in each Raashi)

g) MRP Value of the Tickets : Rs.1,20,00,000/-(One Crore Twenty Lakh)

h) Face Value of the Tickets : Rs. 93,75,000/- (Ninety Three Lakh Seventy Five

Thousand)

i) Draw Number : 7 (Seven) Onwards

j) Draw Time : 8:30 PM Onwards k) Prize Structure : Mentioned Below

i) Amount Offered as Prize Money : Mentioned Below : Mentioned Below

m) Procedure of Draw : 1 time on 4 Digit with One Winning Raashi and

100 Times on 4 digit common to all Raashi (No

Repetition of any Number of any Rank).

n) Name of Sole Distributor : B.S. Enterprises (Lottery Division), Unit of

Goldwin Health Care Pvt Ltd, 201 Bhakti Park,

Mulund (W), Mumbai - 400080.

o) Deduction of Prize Money : Income tax shall be deducted as per the provision

of Income Tax Act.

p) Software Provider Name : Kimaya Infotech LLP

& Address S. No. 84, Pune – Satara Road, Katraj,

Pune – 411 046, Maharashtra

q) One combination can win Prize of One Rank Only, whichever is Highest in Terms of Prize Money.

r) All the prizes above worth Rs.10000/- will be liable to claim directly from Mizoram Government as per rules.

s) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

t) All the Tickets issued shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Played Numbers with Raashi and Barcode.

u) Tickets to be sold in proposed States: Maharashtra, Goa, Sikkim

LALPEKLIANA

VDirector

Scheme

Golden 4D Raashi Ace Online Weekly

Gross Ticket Price (MRP)	Rs. 10/-
Face Value	Rs. 7.8125/-
Numbering	0000 to 9999 Plus 12 Raashi
Total Number of Bets	12,00,000/-***

Box Type	Description	Example
1 WAY	1 NUMBER REPEATED 4 TIMES	1111
4 WAY	1 NUMBER REPEATED 3 TIMES	1 1 1 2
6 WAY	2 NUMBER REPEATED 2 TIMES	0 0 1 1
12 WAY	1 NUMBER REPEATED 2 TIMES	0 0 1 2
24 WAY	NUMBERS ARE NOT REPEATED	1 2 3 4

^{***} Each Combination of 1,20,000 has Maximum 10 bets.

TOTAL MRP SALE	1,20,00,000/-
TOTAL FACE VALUE	93,75,000/-

Depending on Box type of 4 Digit number drawn of 1^{st} Rank, any one of the tables below is applicable for the draw

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total		
				No. of Prizes	Amount	Amount		
					(Rs.)	(Rs.)		
1 st	Sequence	1111 + R	1111 + R	10	1,50.000/-	15,00,000/-		
2 nd	1 Way	1111 + R	1111	110	30,000/	33,00,000/-		
	Box**							
3 rd	N.A		Not Applicable for one	-	-	-		
			way Box					
4 th	4 Digit -		100 Times on 4 digit	12,000	100/-	12,00,000/-		
	Straight		common to all Raashi (No					
	(100 Time)		Repetition of any Number					
			of any Rank)					
	Total							

^{**} For 2nd Rank only, 1 Way i.e. 1111,2222 etc. will be considered as 1 Way Box not Straight.

<u>OR</u>

PRIZE STRUCTURE FOR 4 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total	
				No. of	Amount	Amount	
				Prizes	(Rs.)	(Rs.)	
1 st	Sequence	1112 + R	1112 + R	10	1,50.000/-	15,00,000/-	
2 nd	Straight	1112 + R	1112	110	9,000/-	9,90,000/-	
3 rd	4 Way Box	2111 + R	1112,1121,1211,2111	360	7,700/-	27,72,000/-	
4 th	4 Digit -		100 Times on 4 digit common	12,000	100/-	12,00,000/-	
	Straight		to all Raashi (No Repetition				
	(100 Time)		of any Number of any Rank)				
	Total						

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)		
1 st	Sequence	1122 + R	1122 + R	10	1,50,000/-	15,00,000/-		
2 nd	Straight	1122 + R	1122	110	9,000/-	9,90,000/-		
3 rd	6 Way Box	2211 + R	1122,1212,1221,2211,2121,2112	600	4,600/-	27,60,000/-		
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-		
	Total							

OR
PRIZE STRUCTURE FOR 12 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total	
				No. of	Amount	Amount	
				Prizes	(Rs.)	(Rs.)	
1 st	Sequence	1123 + R	1123 + R	10	1,50,000/-	15,00,000/-	
2 nd	Straight	1123 + R	1123	110	9,000/-	9,90,000/-	
3 rd	12 Way Box	2311 + R	1123, 1132, 1213, 1231,1321, 1312, 2311, 2113, 2131, 3211, 3112, 3121	1320	2,100/-	27,72,000/-	
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-	
	Total						

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of	Prize Amount	Total Amount	
				Prizes	(Rs.)	(Rs.)	
1 st	Sequence	1234 + R	1234 + R	10	1,50,000/-	15,00,000/-	
2 nd	Straight	1234 + R	1234	110	9,000/-	9,90,000/-	
3 rd	24 Way Box	4321 + R	1234, 1324, 1423, 1243, 1342, 1432, 2134, 2314, 2413, 2143, 2341, 2431, 3124, 3214, 3412, 3142, 3241, 3421, 4123, 4213, 4312, 4132, 4231, 4321	2760	1,000/-	27,60,000/-	
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-	
	Total						

GOVERNMENT OF MIZORAM DIRECTORATE OF INSTITUTIONAL FINANCE & STATE LOTTERY



No. G.27042/3/2024-DTE(IF&SL).

e-mail: ifsl-miz@mizoram.gov.in: Website: www.ifsl.mizoram.gov.in,

Phone: 0389-2322291

Dated Aizawl, the December, 2024

Revised Scheme of Golden 4D Raashi Dodge Online Weekly Lottery Starting from dated 09/01/2025 Onwards

a) Name of the Lottery Scheme Golden 4D Raashi Dodge Online Weekly

b) Periodicity of the Draw Weekly (Thursday) Ticket Price Rs. 10/- (MRP) c)

Total Number of Tickets 12,00,000/- (Twelve lakh) Maximum 10 bets of

each combination

0000 to 9999 each in 12 Raashi e) Numbering

> (Mesha, Vrishabha, Mithun, Karka, Simha, Kanya, Tula, Vrishchika, Dhanu, Makara, Kumbha, Meena)

Total Combinations 1,20,000 (10,000 in each Raashi) n

g) MRP Value of the Tickets Rs.1,20,00,000/-(One Crore Twenty Lakh)

h) Face Value of the Tickets Rs. 93,75,000/- (Ninety Three Lakh Seventy Five

Thousand)

Draw Number 7 (Seven) Onwards i)

j) Draw Time 8:30 PM Onwards

k) Prize Structure Mentioned Below 1) Amount Offered as Prize Money Mentioned Below

m) Procedure of Draw 1 time on 4 Digit with One Winning Raashi and

100 Times on 4 digit common to all Raashi (No

Repetition of any Number of any Rank).

n) Name of Sole Distributor : B.S. Enterprises (Lottery Division), Unit of

Goldwin Health Care Pvt Ltd, 201 Bhakti Park,

Mulund (W), Mumbai - 400080.

o) Deduction of Prize Money : Income tax shall be deducted as per the provision

of Income Tax Act.

p) Software Provider Name : Kimaya Infotech LLP

& Address S. No. 84, Pune - Satara Road, Katraj,

Pune - 411 046, Maharashtra

q) One combination can win Prize of One Rank Only, whichever is Highest in Terms of Prize

r) All the prizes above worth Rs. 10000/- will be liable to claim directly from Mizoram Government as per rules.

s) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

All the Tickets issued shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Played Numbers with Raashi and Barcode.

u) Tickets to be sold in proposed States: Maharashtra, Goa, Sikkim

Director

Scheme
Golden 4D Raashi Dodge Online Weekly

Gross Ticket Price (MRP)	Rs. 10/-
Face Value	Rs. 7.8125/-
Numbering	0000 to 9999 Plus 12 Raashi
Total Number of Bets	12,00,000/-***

Box Type	Description	Example
1 WAY	1 NUMBER REPEATED 4 TIMES	1111
4 WAY	1 NUMBER REPEATED 3 TIMES	1112
6 WAY	2 NUMBER REPEATED 2 TIMES	0 0 1 1
12 WAY	1 NUMBER REPEATED 2 TIMES	0 0 1 2
24 WAY	NUMBERS ARE NOT REPEATED	1 2 3 4

^{***} Each Combination of 1,20,000 has Maximum 10 bets.

TOTAL MRP SALE	1,20,00,000/-
TOTAL FACE VALUE	93,75,000/-

Depending on Box type of 4 Digit number drawn of 1^{st} Rank, any one of the tables below is applicable for the draw

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of Prizes	Amount	Amount
					(Rs.)	(Rs.)
1 st	Sequence	1111 + R	1111 + R	10	1,50.000/-	15,00,000/-
2 nd	1 Way	1111 + R	1111	110	30,000/	33,00,000/-
	Box**					
3 rd	N.A		Not Applicable for one	-	-	-
			way Box			
4 th	4 Digit -		100 Times on 4 digit	12,000	100/-	12,00,000/-
	Straight		common to all Raashi (No			
	(100 Time)		Repetition of any Number			
			of any Rank)			
			Total			60,00,000/-

^{**} For 2nd Rank only, 1 Way i.e. 1111,2222 etc. will be considered as 1 Way Box not Straight.

<u>OR</u>

PRIZE STRUCTURE FOR 4 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of	Amount	Amount
				Prizes	(Rs.)	(Rs.)
1 st	Sequence	1112 + R	1112 + R	10	1,50.000/-	15,00,000/-
2 nd	Straight	1112 + R	1112	110	9,000/-	9,90,000/-
3 rd	4 Way Box	2111 + R	1112,1121,1211,2111	360	7,700/-	27,72,000/-
4 th	4 Digit -		100 Times on 4 digit common	12,000	100/-	12,00,000/-
	Straight		to all Raashi (No Repetition			
	(100 Time)		of any Number of any Rank)			
	Total					

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1122 + R	1122 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1122 + R	1122	110	9,000/-	9,90,000/-
3 rd	6 Way Box	2211 + R	1122,1212,1221,2211,2121,2112	600	4,600/-	27,60,000/-
4 th	4 Digit - Straight		100 Times on 4 digit common to all Raashi (No Repetition of any	12,000	100/-	12,00,000/-
	(100 Time)		Number of any Rank)			<u> </u>
			Total			64,50,000/-

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of	Amount	Amount
				Prizes	(Rs.)	(Rs.)
1 st	Sequence	1123 + R	1123 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1123 + R	1123	110	9,000/-	9,90,000/-
3 rd	12 Way Box	2311 + R	1123, 1132, 1213, 1231,1321,	1320	2,100/-	27,72,000/-
			1312, 2311, 2113, 2131, 3211,			
			3112, 3121			
4 th	4 Digit -		100 Times on 4 digit common to	12,000	100/-	12,00,000/-
	Straight		all Raashi (No Repetition of any			
	(100 Time)		Number of any Rank)			
			Total	·	·	64,62,000/-

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1234 + R	1234 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1234 + R	1234	110	9,000/-	9,90,000/-
3 rd	24 Way Box	4321 + R	1234, 1324, 1423, 1243, 1342, 1432, 2134, 2314, 2413, 2143, 2341, 2431, 3124, 3214, 3412, 3142, 3241, 3421, 4123, 4213, 4312, 4132, 4231, 4321	2760	1,000/-	27,60,000/-
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-
			Total			64,50,000/-

GOVERNMENT OF MIZORAM

DIRECTORATE OF INSTITUTIONAL FINANCE & STATE LOTTERY

e-mail: ifsl-miz@mizoram.gov.in: Website: www.ifsl.mizoram.gov.in, Phone: 0389-2322291

No. G.27042/3/2024-DTE(IF&SL).

Dated Aizawl, the ___ December, 2024

Revised Scheme of Golden 4D Raashi Herbie Online Weekly Lottery Starting from dated 10/01/2025 Onwards

a) Name of the Lottery Scheme : Golden 4D Raashi Herbie Online Weekly

b) Periodicity of the Draw : Weekly (Friday)
c) Ticket Price : Rs. 10/- (MRP)

d) Total Number of Tickets : 12,00,000/- (Twelve lakh) Maximum 10 bets of

each combination

e) Numbering : 0000 to 9999 each in 12 Raashi

(Mesha, Vrishabha, Mithun, Karka, Simha, Kanya, Tula, Vrishchika, Dhanu, Makara, Kumbha, Meena)

f) Total Combinations : 1,20,000 (10,000 in each Raashi)

g) MRP Value of the Tickets : Rs.1,20,00,000/-(One Crore Twenty Lakh)

h) Face Value of the Tickets : Rs. 93,75,000/- (Ninety Three Lakh Seventy Five

Thousand)

i) Draw Number : 7 (Seven) Onwards j) Draw Time : 8:30 PM Onwards

k) Prize Structure : Mentioned Below

Amount Offered as Prize Money : Mentioned Below

m) Procedure of Draw : 1 time on 4 Digit with One Winning Raashi and

100 Times on 4 digit common to all Raashi (No

Repetition of any Number of any Rank).

n) Name of Sole Distributor : B.S. Enterprises (Lottery Division), Unit of

Goldwin Health Care Pvt Ltd, 201 Bhakti Park,

Mulund (W), Mumbai - 400080.

o) Deduction of Prize Money : Income tax shall be deducted as per the provision

of Income Tax Act.

p) Software Provider Name : Kimaya Infotech LLP

& Address S. No. 84, Pune – Satara Road, Katraj,

Pune - 411 046, Maharashtra

q) One combination can win Prize of One Rank Only, whichever is Highest in Terms of Prize Money.

r) All the prizes above worth Rs.10000/- will be liable to claim directly from Mizoram Government as per rules.

s) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

t) All the Tickets issued shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Played Numbers with Raashi and Barcode.

u) Tickets to be sold in proposed States: Maharashtra, Goa, Sikkim

ALPEKLIANA)

Director

Scheme
Golden 4D Raashi Herbie Online Weekly

Gross Ticket Price (MRP)	Rs. 10/-
Face Value	Rs. 7.8125/-
Numbering	0000 to 9999 Plus 12 Raashi
Total Number of Bets	12,00,000/-***

Box Type	Description	Example
1 WAY	1 NUMBER REPEATED 4 TIMES	1111
4 WAY	1 NUMBER REPEATED 3 TIMES	1 1 1 2
6 WAY	2 NUMBER REPEATED 2 TIMES	0 0 1 1
12 WAY	1 NUMBER REPEATED 2 TIMES	0 0 1 2
24 WAY	NUMBERS ARE NOT REPEATED	1 2 3 4

^{***} Each Combination of 1,20,000 has Maximum 10 bets.

TOTAL MRP SALE	1,20,00,000/-
TOTAL FACE VALUE	93,75,000/-

Depending on Box type of 4 Digit number drawn of 1^{st} Rank, any one of the tables below is applicable for the draw

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of Prizes	Amount	Amount
					(Rs.)	(Rs.)
1 st	Sequence	1111 + R	1111 + R	10	1,50.000/-	15,00,000/-
2 nd	1 Way	1111 + R	1111	110	30,000/	33,00,000/-
	Box**					
3 rd	N.A		Not Applicable for one	-	-	-
			way Box			
4 th	4 Digit -		100 Times on 4 digit	12,000	100/-	12,00,000/-
	Straight		common to all Raashi (No			
	(100 Time)		Repetition of any Number			
			of any Rank)			
			Total			60,00,000/-

^{**} For 2nd Rank only, 1 Way i.e. 1111,2222 etc. will be considered as 1 Way Box not Straight.

<u>OR</u>

PRIZE STRUCTURE FOR 4 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total	
				No. of	Amount	Amount	
				Prizes	(Rs.)	(Rs.)	
1 st	Sequence	1112 + R	1112 + R	10	1,50.000/-	15,00,000/-	
2 nd	Straight	1112 + R	1112	110	9,000/-	9,90,000/-	
3 rd	4 Way Box	2111 + R	1112,1121,1211,2111	360	7,700/-	27,72,000/-	
4 th	4 Digit -		100 Times on 4 digit common	12,000	100/-	12,00,000/-	
	Straight		to all Raashi (No Repetition				
	(100 Time)		of any Number of any Rank)				
	Total						

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1122 + R	1122 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1122 + R	1122	110	9,000/-	9,90,000/-
3 rd	6 Way Box	2211 + R	1122,1212,1221,2211,2121,2112	600	4,600/-	27,60,000/-
4 th	4 Digit - Straight		100 Times on 4 digit common to all Raashi (No Repetition of any	12,000	100/-	12,00,000/-
	(100 Time)		Number of any Rank)			<u> </u>
			Total			64,50,000/-

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total		
				No. of	Amount	Amount		
				Prizes	(Rs.)	(Rs.)		
1 st	Sequence	1123 + R	1123 + R	10	1,50,000/-	15,00,000/-		
2 nd	Straight	1123 + R	1123	110	9,000/-	9,90,000/-		
3 rd	12 Way Box	2311 + R	1123, 1132, 1213, 1231,1321,	1320	2,100/-	27,72,000/-		
			1312, 2311, 2113, 2131, 3211,					
			3112, 3121					
4 th	4 Digit -		100 Times on 4 digit common to	12,000	100/-	12,00,000/-		
	Straight		all Raashi (No Repetition of any					
	(100 Time)		Number of any Rank)					
	Total							

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)	
1 st	Sequence	1234 + R	1234 + R	10	1,50,000/-	15,00,000/-	
2 nd	Straight	1234 + R	1234	110	9,000/-	9,90,000/-	
3 rd	24 Way Box	4321 + R	1234, 1324, 1423, 1243, 1342, 1432, 2134, 2314, 2413, 2143, 2341, 2431, 3124, 3214, 3412, 3142, 3241, 3421, 4123, 4213, 4312, 4132, 4231, 4321	2760	1,000/-	27,60,000/-	
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-	
	Total						

GOVERNMENT OF MIZORAM



e-mail: ifsl-miz@mizoram.gov.in: Website: www.ifsl.mizoram.gov.in, Phone: 0389-2322291

No. G.27042/3/2024-DTE(IF&SL).

Dated Aizawl, the ___ December, 2024

Revised Scheme of Golden 4D Raashi Exter Online Weekly Lottery Starting from dated 11/01/2025 Onwards

a) Name of the Lottery Scheme : Golden 4D Raashi Exter Online Weekly

b) Periodicity of the Draw : Weekly (Saturday)
c) Ticket Price : Rs. 10/- (MRP)

d) Total Number of Tickets : 12,00,000/- (Twelve lakh) Maximum 10 bets of

each combination

e) Numbering : 0000 to 9999 each in 12 Raashi

(Mesha, Vrishabha, Mithun, Karka, Simha, Kanya, Tula, Vrishchika, Dhanu, Makara, Kumbha, Meena)

f) Total Combinations : 1,20,000 (10,000 in each Raashi)

g) MRP Value of the Tickets : Rs.1,20,00,000/-(One Crore Twenty Lakh)

h) Face Value of the Tickets : Rs. 93,75,000/- (Ninety Three Lakh Seventy Five

Thousand)

i) Draw Number : 7 (Seven) Onwards j) Draw Time : 8:30 PM Onwards

k) Prize Structure : Mentioned Below
 l) Amount Offered as Prize Money : Mentioned Below

m) Procedure of Draw : 1 time on 4 Digit with One Winning Raashi and

100 Times on 4 digit common to all Raashi (No

Repetition of any Number of any Rank).

n) Name of Sole Distributor : B.S. Enterprises (Lottery Division), Unit of

Goldwin Health Care Pvt Ltd, 201 Bhakti Park,

Mulund (W), Mumbai - 400080.

o) Deduction of Prize Money : Income tax shall be deducted as per the provision

of Income Tax Act.

p) Software Provider Name : Kimaya Infotech LLP

& Address S. No. 84, Pune – Satara Road, Katraj,

Pune - 411 046, Maharashtra

q) One combination can win Prize of One Rank Only, whichever is Highest in Terms of Prize Money.

r) All the prizes above worth Rs.10000/- will be liable to claim directly from Mizoram Government as per rules.

s) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

t) All the Tickets issued shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Played Numbers with Raashi and Barcode.

u) Tickets to be sold in proposed States: Maharashtra, Goa, Sikkim

PEKLIANA)

Institutional Finance & State Lottery
Mizoram, Aizawl

Director

Scheme

Golden 4D Raashi Exter Online Weekly

Gross Ticket Price (MRP)	Rs. 10/-
Face Value	Rs. 7.8125/-
Numbering	0000 to 9999 Plus 12 Raashi
Total Number of Bets	12,00,000/-***

Box Type	Description	Example
1 WAY	1 NUMBER REPEATED 4 TIMES	1111
4 WAY	1 NUMBER REPEATED 3 TIMES	1112
6 WAY	2 NUMBER REPEATED 2 TIMES	0 0 1 1
12 WAY	1 NUMBER REPEATED 2 TIMES	0 0 1 2
24 WAY	NUMBERS ARE NOT REPEATED	1 2 3 4

^{***} Each Combination of 1,20,000 has Maximum 10 bets.

TOTAL MRP SALE	1,20,00,000/-
TOTAL FACE VALUE	93,75,000/-

Depending on Box type of 4 Digit number drawn of 1^{st} Rank, any one of the tables below is applicable for the draw

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of Prizes	Amount	Amount
					(Rs.)	(Rs.)
1 st	Sequence	1111 + R	1111 + R	10	1,50.000/-	15,00,000/-
2 nd	1 Way	1111 + R	1111	110	30,000/	33,00,000/-
	Box**					
3 rd	N.A		Not Applicable for one	-	-	-
			way Box			
4 th	4 Digit -		100 Times on 4 digit	12,000	100/-	12,00,000/-
	Straight		common to all Raashi (No			
	(100 Time)		Repetition of any Number			
			of any Rank)			
			Total			60,00,000/-

^{**} For 2nd Rank only, 1 Way i.e. 1111,2222 etc. will be considered as 1 Way Box not Straight.

<u>OR</u>

PRIZE STRUCTURE FOR 4 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total	
				No. of	Amount	Amount	
				Prizes	(Rs.)	(Rs.)	
1 st	Sequence	1112 + R	1112 + R	10	1,50.000/-	15,00,000/-	
2 nd	Straight	1112 + R	1112	110	9,000/-	9,90,000/-	
3 rd	4 Way Box	2111 + R	1112,1121,1211,2111	360	7,700/-	27,72,000/-	
4 th	4 Digit -		100 Times on 4 digit common	12,000	100/-	12,00,000/-	
	Straight		to all Raashi (No Repetition				
	(100 Time)		of any Number of any Rank)				
	Total						

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)		
1 st	Sequence	1122 + R	1122 + R	10	1,50,000/-	15,00,000/-		
2 nd	Straight	1122 + R	1122	110	9,000/-	9,90,000/-		
3 rd	6 Way Box	2211 + R	1122,1212,1221,2211,2121,2112	600	4,600/-	27,60,000/-		
4 th	4 Digit -		100 Times on 4 digit common to	12,000	100/-	12,00,000/-		
	Straight		all Raashi (No Repetition of any					
	(100 Time)		Number of any Rank)					
	Total							

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total		
				No. of	Amount	Amount		
				Prizes	(Rs.)	(Rs.)		
1 st	Sequence	1123 + R	1123 + R	10	1,50,000/-	15,00,000/-		
2 nd	Straight	1123 + R	1123	110	9,000/-	9,90,000/-		
3 rd	12 Way Box	2311 + R	1123, 1132, 1213, 1231,1321,	1320	2,100/-	27,72,000/-		
			1312, 2311, 2113, 2131, 3211,					
			3112, 3121					
4 th	4 Digit -		100 Times on 4 digit common to	12,000	100/-	12,00,000/-		
	Straight		all Raashi (No Repetition of any					
	(100 Time)		Number of any Rank)					
	Total							

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)	
1 st	Sequence	1234 + R	1234 + R	10	1,50,000/-	15,00,000/-	
2 nd	Straight	1234 + R	1234	110	9,000/-	9,90,000/-	
3 rd	24 Way Box	4321 + R	1234, 1324, 1423, 1243, 1342, 1432, 2134, 2314, 2413, 2143, 2341, 2431, 3124, 3214, 3412, 3142, 3241, 3421, 4123, 4213, 4312, 4132, 4231, 4321	2760	1,000/-	27,60,000/-	
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-	
	Total						

GOVERNMENT OF MIZORAM

DIRECTORATE OF INSTITUTIONAL FINANCE & STATE LOTTERY e-mail: ifsl-miz@mizoram.gov.in: Website: www.ifsl.mizoram.gov.in, Phone: 0389-2322291

No. G.27042/3/2024-DTE(IF&SL).

Dated Aizawl, the ___ December, 2024

Revised Scheme of Golden 4D Raashi Stella Online Weekly Lottery Starting from dated 12/01/2025 Onwards

a) Name of the Lottery Scheme

: Golden 4D Raashi Stella Online Weekly

b) Periodicity of the Draw c) Ticket Price

Weekly (Sunday) Rs. 10/- (MRP)

d) Total Number of Tickets

12,00,000/- (Twelve lakh) Maximum 10 bets of

each combination

e) Numbering

0000 to 9999 each in 12 Raashi

(Mesha, Vrishabha, Mithun, Karka, Simha, Kanya, Tula, Vrishchika, Dhanu, Makara, Kumbha, Meena)

Total Combinations

1,20,000 (10,000 in each Raashi)

g) MRP Value of the Tickets

Rs.1,20,00,000/-(One Crore Twenty Lakh)

h) Face Value of the Tickets Thousand)

Rs. 93,75,000/- (Ninety Three Lakh Seventy Five

i) Draw Number

7 (Seven) Onwards 8:30 PM Onwards

j) Draw Time k) Prize Structure

Mentioned Below

1) Amount Offered as Prize Money Mentioned Below

m) Procedure of Draw

1 time on 4 Digit with One Winning Raashi and 100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank).

n) Name of Sole Distributor

B.S. Enterprises (Lottery Division), Unit of

Goldwin Health Care Pvt Ltd, 201 Bhakti Park, Mulund (W), Mumbai - 400080.

o) Deduction of Prize Money

: Income tax shall be deducted as per the provision

of Income Tax Act.

p) Software Provider Name & Address

: Kimaya Infotech LLP

S. No. 84, Pune - Satara Road, Katraj,

Pune - 411 046, Maharashtra

q) One combination can win Prize of One Rank Only, whichever is Highest in Terms of Prize r) All the prizes above worth Rs.10000/- will be liable to claim directly from Mizoram

Government as per rules.

s) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

All the Tickets issued shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Played Numbers with Raashi and Barcode.

u) Tickets to be sold in proposed States: Maharashtra, Goa, Sikkim

EKLIANA)

Director

Scheme
Golden 4D Raashi Stella Online Weekly

Gross Ticket Price (MRP)	Rs. 10/-
Face Value	Rs. 7.8125/-
Numbering	0000 to 9999 Plus 12 Raashi
Total Number of Bets	12,00,000/-***

Box Type	Description	Example
1 WAY	1 NUMBER REPEATED 4 TIMES	1111
4 WAY	1 NUMBER REPEATED 3 TIMES	1 1 1 2
6 WAY	2 NUMBER REPEATED 2 TIMES	0 0 1 1
12 WAY	1 NUMBER REPEATED 2 TIMES	0 0 1 2
24 WAY	NUMBERS ARE NOT REPEATED	1 2 3 4

^{***} Each Combination of 1,20,000 has Maximum 10 bets.

TOTAL MRP SALE	1,20,00,000/-
TOTAL FACE VALUE	93,75,000/-

Depending on Box type of 4 Digit number drawn of 1^{st} Rank, any one of the tables below is applicable for the draw

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of Prizes	Amount	Amount
					(Rs.)	(Rs.)
1 st	Sequence	1111 + R	1111 + R	10	1,50.000/-	15,00,000/-
2 nd	1 Way	1111 + R	1111	110	30,000/	33,00,000/-
	Box**					
3 rd	N.A		Not Applicable for one	-	-	-
			way Box			
4 th	4 Digit -		100 Times on 4 digit	12,000	100/-	12,00,000/-
	Straight		common to all Raashi (No			
	(100 Time)		Repetition of any Number			
			of any Rank)			
Total 60,						

^{**} For 2nd Rank only, 1 Way i.e. 1111,2222 etc. will be considered as 1 Way Box not Straight.

<u>OR</u>

PRIZE STRUCTURE FOR 4 WAY BOX

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of	Amount	Amount
				Prizes	(Rs.)	(Rs.)
1 st	Sequence	1112 + R	1112 + R	10	1,50.000/-	15,00,000/-
2 nd	Straight	1112 + R	1112	110	9,000/-	9,90,000/-
3 rd	4 Way Box	2111 + R	1112,1121,1211,2111	360	7,700/-	27,72,000/-
4 th	4 Digit -		100 Times on 4 digit common	12,000	100/-	12,00,000/-
	Straight		to all Raashi (No Repetition			
	(100 Time)		of any Number of any Rank)			
Total						64,62,000/-

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1122 + R	1122 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1122 + R	1122	110	9,000/-	9,90,000/-
3 rd	6 Way Box	2211 + R	1122,1212,1221,2211,2121,2112	600	4,600/-	27,60,000/-
4 th	4 Digit - Straight		100 Times on 4 digit common to all Raashi (No Repetition of any	12,000	100/-	12,00,000/-
	(100 Time)		Number of any Rank)			<u> </u>
Total						64,50,000/-

Rank	Match	If you Bet	You win If result match is	Maximum	Prize	Total
				No. of	Amount	Amount
				Prizes	(Rs.)	(Rs.)
1 st	Sequence	1123 + R	1123 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1123 + R	1123	110	9,000/-	9,90,000/-
3 rd	12 Way Box	2311 + R	1123, 1132, 1213, 1231,1321,	1320	2,100/-	27,72,000/-
			1312, 2311, 2113, 2131, 3211,			
			3112, 3121			
4 th	4 Digit -		100 Times on 4 digit common to	12,000	100/-	12,00,000/-
	Straight		all Raashi (No Repetition of any			
	(100 Time)		Number of any Rank)			
			Total		·	64,62,000/-

OR

Rank	Match	If you Bet	You win If result match is	Maximum No. of Prizes	Prize Amount (Rs.)	Total Amount (Rs.)
1 st	Sequence	1234 + R	1234 + R	10	1,50,000/-	15,00,000/-
2 nd	Straight	1234 + R	1234	110	9,000/-	9,90,000/-
3 rd	24 Way Box	4321 + R	1234, 1324, 1423, 1243, 1342, 1432, 2134, 2314, 2413, 2143, 2341, 2431, 3124, 3214, 3412, 3142, 3241, 3421, 4123, 4213, 4312, 4132, 4231, 4321	2760	1,000/-	27,60,000/-
4 th	4 Digit - Straight (100 Time)		100 Times on 4 digit common to all Raashi (No Repetition of any Number of any Rank)	12,000	100/-	12,00,000/-
	Total					